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o PYI FARET FR & 57 go7 97 A HRAT g53 HEIr A 10 & N 36H 27
g &1
Please make sure that the printed pages in this question paper are 10
in number and it contains 27 questions.

o 97 g¥ & &I 3N AU IV FiF AFGY FI OIF §ART FR-YIETHT 3 Ggel §o5
g¥ feldr AT dTfRv/
The Code No. on the right side of the question paper should be written

by the candidate on the front page of the answer-book.

o [ FoT FT I Gl Y& XA & GGl IHH HHF [l &l F1TT)
Before beginning to answer a question, its Serial Number must be
written.

o YA IR GRAFT H el Geadl /9ot T S5/

Don'’t leave blank page/pages in your answer-book.



o IT-GRETH & HIARFT s g ofie g1 & ST I IHTRThATAR
&1 el T o1& 3a% &1 o FIc/
Except answer-book, no extra sheet will be given. Write to the point

and do not strike the written answer.

o TGRS 3T Il TGN ToA T GV HIT ferdd/
Candidates must write their Roll Number on the question paper.

o FYIT Fosdl FT 3o¥ 34 & g4 Jg GARET Y o & ged9T qof el 8,
o & IWIT 39 qaE # FiF Ht grar T&hFR A7 FIT e/
Before answering the questions, ensure that you have been supplied
the correct and complete question paper, no claim in this regard, will

be entertained after examination.

AT fAder:
(i) @3t goT fAars &
(i) aeghss gedt & adt FeT e
(ifi) TeF G973 3 3HF FH GoT v &

General Instructions.
(1) All questions are compulsory.
(i) Write the correct option in objective type questions.

(lif) Marks of each question are indicated against it.



Ts-
SECTION - A
GHGE R CEIG))

(Physics)

uﬁmaﬁésaﬂﬁméa#HWMA'gvsa&oaﬂwam
& &B H el AT T ST, 9 38§ aR Hr gfagedn 1

a) =l I 9 See
b) 3= € T3l

c) dief = ge Sresdr
d) ar AT 9 Suen

If the cross-sectional area of an Aluminium wire is tripled and

length remaining same, its resistivity will:
a) Increases nine times

b) Remains same

c) Decreases three times

d) Increase two times

Jifae dfFd & 4 et & wgmuee dea & &feag @ &1 T
Srenelt B o 2 A A 1 1

a) fAee-zfe
b) &re-zfe

c) SRI-g-gfse
d) I g

A student has difficulty to reading the blackboard while sitting in

the last row. What could be the defect the child is suffering from?



a) Myopia

b) Hypermetropia
c) Presbyopia
d) All of these

fFrfaf@d & Sl &1 el W Hda: @R For § Godoe A8l 672

1

a) AT Falr

b) 9ael Fal

c) ARSI Fall

d) S AET

Which of the following is not ultimately derived from the Sun’s
energy”?

a) Geothermal energy

b) Wind energy

c) Nuclear energy

d) Bio-mass
UeT: TSt ol & 31 § 2 1
What is meaning of repurpose?

500 W 3JAd T @I faega IMWhsiex 10 8¢ 9id fea Teman Sirar
gl 4.00 ¥9T 9fd kWh &7 &3 & & 30 fed d& ga= & fov Far
T Hed T g7 2

An electric refrigerator rated 400 W operates 8 hour/day. What is

the cost of the energy to operate it for 30 days at Rs 3.00 per
kWh?

g2 gl & AT ¥ AT d 9T TAEAT HT 37 272

How the constructions of large dams cause social and

environmental problems?



SITEAT SISV 6 Ig FAT Agl eHATCAT| 2
Explain why the planets do not twinkle.

faegd Aex &1 AdAIThd 3IRG Wited| g@ehr feuia aur Hifafe
oS HIfev] 4

Draw a labelled diagram of an electric motor. Explain its principle

and working.

a) 5.0 cm &S & Hs f§a 30 cm awar B=ar & Fdr 39 gqor
% @A 20 cm gl WX @M I & wfafes Hr Fufd, gefa qur ass
AT HITAT| 3

An object 5.0 cm in length is placed at a distance of 20 cm in
front of a convex mirror of radius of curvature 30 cm. Find the

position of the image, its nature and size.

b) ferdT 3ractel ol &I Brevd gt 15 cm Bl & &l ofF & fohcell g
W W & 58 carr f&d &1 o[ & 10 cm gt W gidfes sa1? o |
GaRT 3cUeeT 38T o A1a HfST] 3

A concave lens has focal length of 15 cm. At what distance
should the object from the lens be placed so that it forms an

image at 10 cm from the lens? Also, find the magnification

produced by the lens. 3
AYgar
Or
a) 3H 3dc gUUT & BIhd gl ATd HIFST fHeT ashet Bsar 32 cm
gl 2

Find the focal length of a convex mirror whose radius of curvature

is 32 cm.

b) afe fordll a&q @I 3ade ofF & 3ed W I@r 4T § o @i
SATR g8 Ufdise 1 FAfd 3R T ypfd Tuse HifTT| 4



If an object is placed on the infinity of a concave lens, then draw

a ray diagram and explain the position size and nature of its

image.
s q
SECTION - B
(e )
(Chemistry)
10. ©fig YOT W o] gIegiorailReh 3(FcT STolal & T gl g7 1

11.

12.

a) BISSIold W T 3RR FARISS §o1dT gl

b) FIT 3T T IRRA 3FESS AT &l

c) Fg AfAfRAT & I B

d) 3T FGUT U STl deAdT &l

What happens when dilute hydrochloric acid is added to iron

fillings?

a) Hydrogen gas and iron chloride are produced.
b) Chlorine gas and iron hydroxide are produced.
c) No reaction takes place.

d) Iron salt and water are produced.

STeT I JAUfeAfd H 31Fe H1 IR el FT olgl glar? 1

Why do acids not show acidic behaviour in the absence of water?

&l dcal & AT 9d10 fSate STl I & ar sogele 39iEdyd 8l 1

Name two elements that have two electrons in their outermost

shells.



13.

14,

15.

16.

17.

Hferd A e THAHIOT T §7? TARAR FHARIOT T FJfId HLT
FT TaLTH g7 2

What is a balanced chemical equation? Why should chemical

equations be balanced?
3erIsIRoT ATRTHAT FAT §2 TH 31807 S| 2

What is a neutralisation reaction? Give an example.

dedl & Felarcliolen fdwarg 7 MY 3maq AR # dea & f&ufa
q T YU §? Th 30T G| 2

How does the electronic configuration of an atom relate to its

position in the Modern Periodic Table?

a) olig F 9T & g & fav ar als faf@u| 2

State two ways to prevent the rusting of iron.

b) TS IOT YAT F MUR W g3t g gt A fasie RS
2

Differentiate between metal and non-metal on the basis of their

chemical properties.

a) GISZISTolIhOT T g7 ST e fareh equner T §°? 2
What is hydrogenation? What is its industrial application?
b) et Fifdtet & aFSIT FIfST (i) CH3CI (ii) CH3COOH 2

Write the names of following compounds. (i) CHsCI (i) CH;COOH

C) HTEAIUT JHTAHAT &1 §? a0 v 2

What is saponification reaction? Give example.



18.

19.

gs- ¥
SECTION - C
(Sha fa=mer)
(Biology)
PrAffad # & i e Ra 1 a1 Ggar 82
a) CFC
b) CO;
c) CO
d) I g
Which of the following damages ozone layer?
a) CFC
b) CO;
c) CO
d) All of these
HHSIT 3791 &I 3T g
a) BART 1Y d Fd & HIUE
b) &R afd T gt & afd
c) 3¢ T & IURSEIN
d) 3T gef|
An example of homologous organs is:
a) our arm and a dog’s fore-leg.

b) our teeth and an elephant’s tusks.



20.

21.

22.

23.

24,

c) potato and runners of grass.

d) all of the above.

e & & Pl AT A 7 STeleddT T HAET g2 1
a) 37srerT

b) TS

c) QUsharfgehr

d) fSearfe=ir

Which of the following is a part of the male reproductive system

in human beings?

a) Ovary

b) Uterus

c) Vas deferens

d) Fallopian tube

Siared T g7 1
What are fossils?

O FR 24T 82 1

What are trophic levels?

ued # YehRITeldclel fohd JehT Bl §7? 2
How does phototropism occur in plants?

ar dfer IR () F 7ET 3eadye (faca) d &1 giar 82
2

What happens at the synapse between two neurons?



25.

26.

27.

AlTd H I &1 foor Fuor &3 gar £2 2

How is the sex of the child determined in human beings?

a) oISt 30T &I &AHTRd O F=a g 2
Draw a well labelled diagram of seed germination.
b) YFRT T Yeee A &1 AT yfAwr g2 2

What is the role of the seminal vesicles and the prostate gland?

a) Teh Tl T ICIOEY hIC T AHAIhd T =l | 3
Draw a well labelled diagram of cross-section of leaf.
b) AT TAT FATIATT GTT H FAT 3R g2 3

What are the differences between aerobic and anaerobic

respiration?
AYgar

Or

AT g€T &1 I 3R SRV &1 guid fifw| 6

Describe structure and functioning of human heart.
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